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2 uniform electric field. The spheres are charge with equal, but

Two identical 1.5 g spheres hang from thread in
he magnitude of the electric field required to produce the

opposite charge, +50 uc and -50 uc. Determine tl
separation shown. Include a free body diagram.
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A uniform electric field with E=1 0x10° N/C between two parallel conducting plates connected to a 100

volts battery.
a). if an electron is released from rest at the upper plate, what is its acceleration?

b). what speed and kinetic energy does it acquire while traveling 1.0 cm to the lower plate?
¢). How long does it take to travel this distance?




image2.png
<~ 1





image3.png
and x=0, Y= 0.3

Two equal positive charges q1=q2=2.0 uc are located at x=0, y=0.3 m\,(l:espectively. What are the magnitude and
direction of the total electric force that q1 and q2 exert on a third charge q3=4.0 uc at x=0.4 m, y=0?
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A rod uniformly distributed with charge —Q, is bent into an semicircle with radius R, as shown.

Determine the net electric field at the origin.
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1
An infinitely long (L>>R) hollow cylinder of radius 3.0 cm is charged with a uniform surface charge

density of 0.8 uC/m>. Use Gauss’s Law to find the magnitude and direction of the electric field a
distance of (a) 1.5 cm and (b) 6.0cm away from the center of the cylinder. '





